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lnstructions to candidates

ll tiil;I""'"ff"'IllL uo* 
'nu ':TT:P 

5 questions

3i til;"";l i'l ''gnt 
side indicate r'llT::l=

4) Make suitable assumptions where required.

e.No 1 Answer any four' , -.rrioq nf networksa) g*pr"li'tn""arious categories of networks

b) 'G#';;;;"ui funa'ons of oata Link Laver'

c) wh'i:;J b"io' MEo and LEo satellites ?

d) How-Ooes Token Ring work ?

e) e*pi"]lln"'"o"""pt Jt p'"uoor'"ader used in UDP'

Exolain the various physical media with the helo of neat diagrams '

Compare Circuit t*"ill:'""nl i'"rt"t i*otning and Message switching

WhatisTrafficshaping?Explain..Leakybucket'techniqueoftrafficshaping
L';H th;'iii;;;;t dptioni used in rP Datasram

Five equal-size datagram' b-",1-"-19i:?,:?-tl,:::f:,#?::??:.'ff::fJ;J[enf"+:;["
one after another inf itn,l?,ffi ;' ilg-qil rg.?=PY1r-r" 

bru

. However'

i)t;i,tgt'attt Peth Leti3rit

I Sl0UKtlt

a 1t-100 K$l

*" ""* 
waiting a1lYocessing) is 3' 10'

20. 7, and 20 ms '"';;'il;;'i"u*i1's 
ti'it" p*pagation speed is 2 x 108 m/s 

'

find the order the datagrams arrive at tn" oJl,*i"i'"nf tn" delay for each' lgnore

affim:l:nJ:iffi"T]l',LTion, or standard Ethernet with neat diagrams

DrawthercP::s-T:t::ffiJJ",Hffi:tff:1'ff,il"1x:iis:':?lesorvinsthe
Explain the recurstve
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Q.No 2 a)
b)

Q.No 3 a)
b)

Q.No.4 a)

Q.No.5

Q.No.6

Domain names.

Write short notes on anY 4 '

CSMAJCA.
PPP frame format'
Three WaY Handshakes'

World Wide Web'

lPv6.
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